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001. økwshkíkLkk Mkku{LkkÚk {trËh MktË¼o{kt Lke[uLkk Ãkife fÞwt/fÞk rðÄkLk Mkk[w/Mkk[kt Au ?

1. ¼khíkLkk çkkh ßÞkurík‹÷øk{ktÚke «Úk{ yLku MkkiÚke swLkw «k[eLk ßÞkurík‹÷øk {kLkðk{kt ykðu Au.

2. ykÄwrLkf fk¤{kt fLkiÞk÷k÷ {wLþe yLku MkhËkh Ãkxu÷Lkk «ÞíLkkuÚke ykÄwrLkf {trËhLkwt rLk{koý ÚkÞwt.

3. E. Mk. 1951{kt zkp. hksuLÿ «MkkË hk»xÙLku Mk{ŠÃkík fÞwO.

4. Mkku{ Ëuðíkk yÚkkoík [tÿ Ëuðíkk yux÷u [tÿLkk Ëuðíkk.

(A) Võík 3 (B) Võík 1 yLku 3

(C) Võík 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

002. ‘rËLk ¾qLkfu Þkhku Lk ¼q÷ òLkk’ WÂõík fÞk yiríknkrMkf M{khf Ãkh fwtzkhu÷e Au ?

(A) W{kfkLík frzÞkLke ¾kt¼e (B) rðLkkuË rfLkkheðk÷kLke ¾kt¼e

(C) Ëktze M{khf (D) ELËw÷k÷ Þkr¿kf «rík{k

003. økkÞ økkinheLkku {u¤ku fÞk MÚk¤u ¼hkÞ Au ?

(A) Akuxk WËuÃkwh rsÕ÷kLkk ftðkx ¾kíku (B) ËknkuËLkk økhçkkzk íkk÷wfkLkk LkZu÷kð økk{u

(C) ËknkuË rsÕ÷kLkk suMkkðkzk ¾kíku (D) zktøk rsÕ÷kLkk yknðk ¾kíku

004. ‘¾z¾zkx’ fkxwoLk Mktøkún fkuLke f]rík Au ?

(A) çktMke÷k÷ ð{ko ‘[fkuh’ (B) Lkxw¼kE r{Mºke ‘[uíkf’

(C) ykh. fu. ÷û{ý (D) [tÿ rºkðuËe ‘hkÞS’

005. Lke[uLkk fYý «þÂMík fkÔÞku yLku frðyku Ãkife fÞwt fYý «þÂMík fkÔÞ LkÚke ?

(A) Ë÷Ãkíkhk{ – VkçkoMk rðhn (B) økkuðÄoLkhk{ rºkÃkkXe – MLkun{wÿk

(C) W{kþtfh òu»ke – ‘hzku Lk {ws {]íÞwLku’ (D) frð LnkLkk÷k÷ – rÃkík]íkÃkoý

006. økwshkíkLkk yuf òýeíkk y¾çkkh{kt «rMkØ Úkíke fku÷{ yLku ÷u¾f ytøkuLke ÞkËe I Lku ÞkËe II MkkÚku ÞkuøÞ heíku òuzku.

 ÞkËe I          ÞkËe II

1. íkzLku Vz a. yþkuf Ëðu

2. {kLkMk ËþoLk b. økwýðtík þkn

3. rð[khkuLkk ð]tËkðLk{kt c. LkøkeLkËkMk Mkt½ðe

4. çkwÄðkhLke çkÃkkuhu d. {kuhkrh çkkÃkw
(A) 1 - b, 2 - d, 3 - a, 4 - c (B) 1 - d, 2 - b, 3 - a, 4 - c
(C) 1 - c, 2 - d, 3 - b, 4 - a (D) 1 - c, 2 - b, 3 - a, 4 - d

007. ‘MxuåÞw ykuV ÞwLkexe’ MktË¼o{kt Lke[uLkk rðÄkLkku Ãkufe fÞw/fÞk rðÄkLk Mkk[w/Mkk[k LkÚke ?

1.  íkuLkku rþ÷kLÞkMk ©e LkhuLÿ {kuËeyu 31 ykuõxkuçkh 2013 Lkk hkus, MkhËkh Ãkxu÷Lke 138{e sL{ sÞtríkLkk rËðMku fÞkuo.

2. íkuLkw ÷kufkÃkoý ¼khíkLkk ðzk«ÄkLk yu 31 ykuõxkuçkh 2017 Lkk hkus fÞwO.

3. íkuLke rzÍkELk ¼khíkeÞ rþÕÃkfkh hk{ ðe. Mkwíkh îkhk fhðk{kt ykðe níke.

4. «rík{k Lku [kh ÍkuLk{kt ðnU[ðk{kt ykðe Au suLkku ÍkuLk 2Lkwt BÞwrÍÞ{ MkhËkh Ãkxu÷Lkk SðLk yLku ÞkuøkËkLkLke Mkqr[
ykÃku Au.

(A) Võík 1 yLku 2 (B) Võík 1 yLku 3

(C) Võík 2, 3 yLku 4 (D) Võík 2 yLku 4
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008. fkuLku ÷kufMkkrníÞLkk ½q½ðíkk {nuhk{ýLke WÃkkrÄ ykÃkðk{kt ykðe Au ?

(A) Ëw÷k ¼kÞk fkøk (B) Íðuh[tË {u½kýe

(C) nu{wËkLk økZðe (D) Ãkªøk¤þe økZðe

009. ®MkÄw MktMf]rík{ktÚke «kÃík Úkíke {wÿkykuLke WÃkh Lke[uLkk Ãkife fÞk ÃkþwLkk ytfLk MkkiÚke ðÄw «{ký{kt òuðk {¤u Au ?

(A) ¾qtÄðk¤ku çk¤Ë (B) yufþ]tøke Ãkþw

(C) zw¬h (D) ½kuzku

010. {nk¼khíkLkk ÞwØ{kt Ãkktzð Ãkûku swËk swËk þt¾ ðzu þt¾ðkË fhðk{kt ykÔÞku. ÞkËe I Lkk ÞkuØkLke Mkk{u ÞkËe II {kt
sýkðu÷ þt¾Lkk Lkk{ Lke òuzeyku Mkk[e heíku òuzku.

 ÞkËe I      ÞkËe II

1. ©e f]»ý a. {rýÃkw»Ãkf

2. ysowLk b. Mkw½ku»k

3. ¼e{ c. yLktík rðsÞ

4. ÞwrÄrch d. {kuxkuÃkkizÙ

5. Lkfw÷ e. ËuðË¥k

6. MknËuð f. ÃkktsLkLÞ

(A) 1 - f, 2 - e, 3 - d, 4 - c, 5 - b, 6 - a (B) 1 - f, 2 - e, 3 - a, 4 - b, 5 - c, 6 - d

(C) 1 - e, 2 - c, 3 - b, 4 - a, 5 - d, 6 - f (D) 1 - a, 2 - d, 3 - c, 4 - b, 5 - f, 6 - e

011. h{Íku¤ yux÷u þwt ?

(A) {tShk (B) stíkh

(C) {kuxk ½q½hk (D) Ãkkðhe

012. økwshkíkLkk fÞk MktøkeíkfkhLku ÷kufMktøkeíkLkk ûkuºk{kt 2018Lkk ‘Mktøkeík Lkkxf yfkË{e ÃkwhMfkh’Úke MkL{krLkík fhðk{kt
ykÔÞk Au ?

(A) ©e Íkfeh nwMkuLk (B) ©e rLkhtsLk hkßÞ økwY

(C) ©e{íke MkkuLk÷ {kLk®Mkn (D) ©e sríkLk økkuMðk{e

013. “{iºke ¼kðLkw Ãkrðºk Íhýw” Lkk{Lke «rMkØ økwshkíke h[LkkLkk MksofLkwt Lkk{ þwt Au ?

(A) ©e W{kþtfh òu»ke (B) ©e Mðk{e hk{ËkMk

(C) ©e MkwLËh{T (D) ©e r[ºk¼kLkwS

014. økwshkík{kt MkþMºk ¢ktríkfkhe [¤ð¤Lke ¼qr{fk íkiÞkh fhLkkh Mkðo«Úk{ Lkuíkk .......... níkk ?

(A) ©e ~Þk{S f]»ý ð{ko (B) MkhËkh®Mkn hkýk

(C) ©e yh®ðË ½ku»k (D) ©e çkkheLÿ fw{kh

015. ÃkMktËøke Ãkk{u÷ ‘MðåA ¼khík yr¼ÞkLk’ Lkku ÷kuøkku íkiÞkh fhLkkh .......... níkk ?

(A) ykh. Mktíkku»k (B) yLkík ¾kMk çkhËh (Anant Khasbardar)

(C) Mkku{uïhk yu{. (D) {nuþ fkÃkrzÞk
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016. MkkrníÞfkh yLku ÷kûkrýfíkkyku Ãkife fE òuze Mkk[e/ÞkuøÞ LkÚke ?

(A) «u{kLktË – «Úk{ Ãkã ðkíkkofkh

(B) rfþkuh÷k÷ {þYðk¤k – ©uÞkÚkeo MkkrníÞfkh

(C) híkLkS Vhk{S þuXLkk – «Úk{ økwshkíke yuLMkkRf÷kuÃkuzeÞk

(D) f. {k. {wLþe – MðÃLkîkhk, økwshkíke yÂM{íkkLkk ÃkwhMfíkko

017. þknçkwÆeLk ½kuheLku ykçkw ÷zkE{kt ÃkhkSík fhLkkh LkkEfk Ëuðe fkuLke {kíkk níke ?

(A) {q¤hks «Úk{ (B) {q¤hks rîríkÞ

(C) rðMk÷Ëuð ðk½u÷k (D) feŠíkÃkk÷ çkeòu

018. EMx EÂLzÞk ftÃkLkeLkku økwshkík{kt Mk¥kkLkku ÃkøkÃkMkkhku fÞk fhkh íkhefu yku¤¾ðk{kt ykðu Au ?

(A) økw÷k{e fhkh (B) husux fhkh

(C) MknkÞfkhe fhkh (D) {wÕ÷føkehe fhkh

019. ‘Ëktze fq[’ MktË¼o{kt Lke[uLkk ðkõÞku Ãkife fÞk/fÞwt rðÄkLk Mkk[w/Mkk[kt Au ?

1. økktÄeS íku{Lkk MkkÚkeËkhku MkkÚku 24 rËðMkLke ÃkËÞkºkk çkkË 5{e yur«÷ 1930 Lkk hkus Ëktze ÃknkuåÞk.

2. ©e{nkËuð¼kE ËuMkkE Ëktzefq[Lku ‘{nkr¼rLk»¢{ý’ MkkÚku Mkh¾kðu Au.

3. Ëktzefq[ Ëhr{ÞkLk rðËuþe fkÃkzLkku çkrn»fkh, ËkYçktÄe, rnLËw {wM÷e{ yuõíkk, yMÃk]~Þíkk Lkeðkhý suðk fkÞo¢{kuLkwt
ykÞkusLk ÚkÞwt.

(A) Võík 1 yLku 2 (B) Võík 1 yLku 3

(C) Võík 1, 2 yLku 3 (D) Võík 2 yLku 3

020. fÞk {trËhkuLku “Mktøku{h{h{kt ftzkhu÷ fkÔÞ”Lke WÃk{k ykÃkðk{kt ykðu÷ Au ?

(A) {ËwhkE ‘økkuÃkwh{’ Ähkðíkk {trËhku (B) ¾sqhknkuLkk {trËhkuLku

(C) Ëu÷ðkzkLkk siLk {trËhLku (D) fkt[e ¾kíku çktÄkðu÷ {trËhkuLku

021. nkuÞMk÷ M{khf õÞkt WÃkÂMÚkík Au ?

(A) nBÃke yLku nkuMÃkux{kt (B) nu÷urçkz yLku çku÷wh{kt

(C) {iMkqh yLku çkUø÷wY (D) ©]tøkuhe yLku Äkhðkz{kt

022. Lke[uLkk Ãkife ¼khíkLkk çku Ãkzkuþe hkßÞku ðå[u MkhnËe s{eLk MktçktÄ{kt fÞk hkßÞku ðå[u rððkË [k÷u Au ?

1. {nkhk»xÙ yLku fýkoxf      2. Ãktòçk yLku nrhÞkýk      3. rçknkh yLku Íkh¾tz      4. íku÷tøkkýk yLku yktÄú«Ëuþ

(A) Võík 1 yLku 2 (B) Võík 1, 2 yLku 3

(C) Võík 4 (D) Võík 1, 2 yLku 4

023. fÞk rsÕ÷k{kt {uZe ykð¤Lkku Ãkkf ÷uðkÞ Au ?

(A) fåA (B) {nuMkkýk

(C) Ãkt[{nk÷ (D) ËknkuË
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024. økwshkíkLke çknw nuíkwf ÞkusLkkyku ytøku ÞkËe I {kt sýkðu÷ LkËeykuLku ÞkËe II Lkk çktÄLkk MÚk¤ MkkÚku Mkk[e heíku òuzku.

 ÞkËe I            ÞkËe II

1. MkhMðíke a. {wõíkuïh çkLkkMkfktXk

2. ¼kuøkkðku b. ©eLkkÚkøkZ hksfkux

3. þuºkwtS c. Äku¤e Äò

4. ¼kËh d. hksMÚk¤e
(A) 1 - b, 2 - a, 3 - c, 4 - d (B) 1 - a, 2 - c, 3 - d, 4 - b
(C) 1 - a, 2 - b, 3 - c, 4 - d (D) 1 - c, 2 - d, 3 - a, 4 - b

025. økwshkíkLkk MkkiÚke Ÿ[k Ãkðoík røkhLkkhLkk rþ¾hku Ãkife ytçkk {kíkk, Ë¥kkºkuÞLkk rþ¾hku WÃkhktík yLÞ ºký rþ¾hku Au. su{kt
Lke[uLkk fÞk rþ¾hLkku Mk{kðuþ Úkíkku LkÚke.

(A) fk¤fkLkwt rþ¾h (B) økkuh¾LkkÚk

(C) Lku{eLkkÚkLkwt siLk ËuhkMkh (D) ËkíkkhLke xqtf

026. Ãkqýko LkËeLkwt WËTøk{ MÚkkLk fÞwt Au ?

(A) ÃkeÃk÷LkuhLkk zwtøkh{ktÚke (B) yxk÷k zwtøkh{ktÚke

(C) ðktMkËkLkk zwtøkh{ktÚke (D) ÃkkhLkuhkLkk zwtøkh{ktÚke

027. Lke[uLkk rðÄkLkku [fkMkku.

1. ¼khíkLkku ¼qr{¼køk yurþÞk¾tzLke W¥kh íkhV ykðu÷ku Au.

2. ¼khíkLke W¥kh{kt Ÿ[e Ãkðoík ©uýeyku, Mkufzku rf÷ku{exh ÷tçkkE{kt Ãkrù{Úke Ãkqðo rËþk{kt ÃkÚkhkÞu÷e Au.

3. Ërûký{kt ¼khíkeÞ rîfÕÃkLke Ãkqðo{kt çktøkk¤Lke ¾kze Au.

4. Ãkrù{{kt yhçk Mkkøkh íkÚkk Ërûkýu ®nË {nkMkkøkh ykðu÷ku Au.

WÃkÞwoõík rðÄkLkku Ãkife fÞw/fÞk rðÄkLk Mkk[w/Mkk[k Au ?

(A) Võík 1 yLku 4 (B) Võík 2, 3 yLku 4

(C) 1, 2, 3 yLku 4 (D) Võík 2 yLku 4

028. Lke[uLkk íkeÚko Äk{ku Ãkife fÞk íkeÚkoÄk{Lke òuze Mkk[e LkÚke ?

(A) {ÂÕ÷LkkÚkLke «rík{k – ¼kuÞýe (B) {íMÞkðíkkh {trËh – îkhfk

(C) rºkLkuºkuïh {nkËuð – íkhýuíkh (D) {rý {trËh – {kuhçke

029. økwshkík ÞwrLkðMkeoxeLkk «Úk{ {rn÷k fw÷Ãkrík fkuý níkk ?

(A) rðãk økkihe rLk÷ftX (B) þkhËkçkuLk {nuíkk

(C) ntMkkçkuLk {nuíkk (D) ©e{íke ¼køk {nuíkk

030. rLk»ÃkkÃk Mkhkuðh fÞk MÚk¤u ykðu÷ Au ?

(A) Ãkkxý (B) rMkØÃkwh

(C) Ãkk÷eíkkýk (D) îkhfk

031. ytË{kLk - rLkfkuçkkh rîÃk Mk{qnku{kt ykðu÷ .......... yuf {kºk ¼khíkLkku Mkr¢Þ ßðk÷k{w¾e Au.

(A) LkkhfkuLz{T (B) çkohLk

(C) õ÷eð÷uLz (Cleveland Volcano) (D) fkur÷{k
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032. økwshkík MkhfkhLkk 2019-20Lkk ytËksÃkºk{kt s¤ ÔÞðMÚkkÃkLk WÃkhktík yLÞ [kh ûkuºkku WÃkh Ãký rðþu»k ¼kh {qfðk{kt
ykÔÞku Au yk ûkuºkku{kt Lke[uLkk Ãkife fÞk ûkuºkLkku Mk{kðuþ Úkíkku LkÚke.

(A) økúeLk yLku õ÷eLk yuLkSo (B) f]r»k yLku ¾uzqík fÕÞký

(C) {rn÷k yLku hkusøkkh (D) hkusøkkh yLku {rn÷k yLku MkþÂõíkfhý

033. s¤ ÔÞðMÚkkÃkLk ytíkøkoík økwshkík Mkhfkh yLku ¼khík Mkhfkh îkhk ònuh fhkÞu÷ ònuhkíkLkk MktË¼uo fÞw/fÞk rðÄkLk
Mkk[w/Mkk[k Au ?

1. ‘Lk÷ Mku s÷’ ÞkusLkk ytíkøkoík ykøkk{e Ãkkt[ ð»ko{kt ËuþLkk Ëhuf ½h{kt Lk¤ îkhk ÃkeðkLkwt þwØ Ãkkýe ÃkwY Ãkkzðk{kt
ykðþu.

2. økwshkík Mkhfkh ykøkk{e çku ð»ko{kt ykþhu 1000 fhkuz Lkku ¾[o fheLku økwshkíkLkwt yuf Ãký ½h Lk¤ îkhk Ãkkýe {kxu
ðtr[ík Lk hnu íku MkwrLkrùík fhðk{kt ykðþu.

3. [k÷w ð»kuo yk nuíkw {kxu Yk. 4500 fhkuzLke òuøkðkE økík ð»ko fhíkkt 36% ðÄkhu fhðk{kt ykðe Au.

(A) Võík 1 yLku 3 (B) Võík 1 yLku 2

(C) Võík 2 yLku 3 (D) 1, 2 yLku 3

034. hkusøkkh ÷ûke yLku ÃkrhðkhLke ykðf ðÄkhíke økwshkík MkhfkhLke ÞkusLkkyku Ãkife fE ÞkusLkkLkku íku{kt Mk{kðuþ Úkíkku LkÚke ?

(A) {wÏÞ{tºke økúk{kuËÞ ÞkusLkk (B) rfMkkLk fÕÃkð]ûk ÞkusLkk

(C) Ãkþw Vk{oLke MÚkkÃkLkk (D) {kLkð fÕÞký ÞkusLkk

035. økwshkík MkhfkhLkk ytËksÃkºkLkk «fkþLkLku 34 ytíkøkoík fE çkkçkík «rMkØ fhðk{kt ykðu Au ?

(A) økwshkík hksrð¥keÞ sðkçkËkhe

(B) Mkk{krsf ykŠÚkf Mk{eûkk

(C) yufrºkík rLkrÄ nuX¤ «kÂÃík yLku ykfÂM{õíkk rLkrÄ íkÚkk ònuh rnMkkçk ÷uðz Ëuðz {kxuLkwt çksux

(D) WÃkhLkk Ãkife fkuE Lk®n

036. ®n{íkLkøkh ¾kíku MÚkÃkkLkkh Lkðe ðuxhLkhe fku÷us fE ÞwrLkðMkeoxe nuX¤ MÚkÃkkLkkh Au ?

(A) MkhËkh f]r»kLkøkh Ëktíkeðkzk f]r»k ÞwrLkðMkeoxe (B) fk{ÄuLkw ÞwrLkðMkeoxe

(C) LkðMkkhe f]r»k ÞwrLkðMkeoxe (D) ykýtË yuøkúefÕ[h÷ ÞwrLkðMkeoxe

037. økwshkík{kt hksfku»keÞ ¾kã hkßÞLkk økhøkÚÚkw WíÃkkËLkk 1.42 xfk, økwshkíke yíÞkh MkwÄeLkeMkkiÚke ykuAe xfkðkhe níke,
su fÞk ð»ko{kt níke ?

(A) 2015-16 (B) 2016-17
(C) 2018-19 (D) 2019-20

038. ð»ko 2019-20 Ëhr{ÞkLk økwshkík MkhfkhLkk fw÷ ¾[o{kt rðfkMk÷ûke ¾[oLkku rnMMkku .......... xfk Au.

(A) 27.89% (B) 23.99%
(C) 62.79% (D) 24.78%

039. økwshkík{kt yøkkW hkßÞLke rðrðÄ {uzef÷ fku÷uòuLke {¤e fw÷ 3400 íkçkeçke çkuXfku níke, su{kt Mkkík Lkðe {uzef÷
fku÷uòuLke íkksuíkh{kt {tòwhe {¤íkk nðu .......... çkuXfkuLkku ðÄkhku ÚkLkkh Au.

(A) 750 (B) 700
(C) 1400 (D) 1050
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040. NITI ‘Lkerík’ ykÞkuøk økXLkLkk rðrðÄ WÆu~Þku Ãkife fE çkkçkíkLkku Mk{kðuþ Úkíkku LkÚke ?

(A) xufLkku÷kuS Lkk Ãkqýo WÃkÞkuøkÚke MktþkÄLkkuLkku {n¥k{ WÃkÞkuøk yLku MkhfkhLke fkÞoûk{íkk{kt ð]rØ

(B) yktíkhhk»xÙeÞ MktMÚkkyku yLku rðËuþku MkkÚku fË{ r{÷kðeLku s [k÷ðkLke sYh

(C) ËuþLke ykþhu 65% ÞwðkLkkuLku rþûký yLku fkiþÕÞ ÃkwY Ãkkze zu{kuøkúkrVf rzðezLz «kÃík fhðwt

(D) ÃkkÞkLke ÷½w¥k{ Mkuðkyku Ãkqhe ÃkkzðkLkku WÆu~Þ

041. çkkh{e Ãkt[ð»keoÞ ÞkusLkk (2012 Úke 2017) Lkku {wÏÞ WÆu~Þ .......... níkku.

(A) Mkk{krsf LÞkÞ yLku Mk{kLkíkk MkkÚku ykŠÚkf Mk{]rØ

(B) íkeðú Mk{kðuþe yLku Mktíkku»ke rðfkMk

(C) íkeðú yLku ðÄw Mk{kðuþe rðfkMk

(D) f]rík, rðfkMk «urhík

042. Lkkýkt MðYÃkLke Wí¢ktríkLku (þYykíkÚke «ðíko{kLk) fkuzLkku WÃkÞkuøk fhe ¢{çkØ heíku Ëþkoðku.

1. ðMíkw {wÿk – f]r»k WíÃkkËLk, ®f{íke ÃkíÚkh

2. çkuLf Lkkýw – [uf zÙk^x ¢uzex fkzo

3. Ãkºk {wÿk – [÷ýe Lkkux

4. Äkíkw {wÿk – MkkuLkw, [ktËe, rMk¬k

5. yk¼kMke Lkkýwt – rçkxfkuELk
(A) 4, 1, 2, 3, 5 (B) 1, 4, 3, 2, 5
(C) 4, 5, 3, 2, 1 (D) 1, 2, 5, 3, 4

043. ¼khíkLkk hk»xÙÃkrík ©e hk{LkkÚk fku®ðËu ¼khíkeÞ þkMºkeÞ Lk]íÞf÷k MkkÚku Mktf¤kÞu÷ fE ÔÞÂõíkLke hkßÞ Mk¼kLkk MkÇÞ
íkhefu rLk{ýqtf fhe Au ?

(A) ©e rçkhsw {nkhks (B) ©e{íke {ÂÕ÷fk Mkkhk¼kE

(C) ©e{íke MkkuLk÷ {kLk®Mkn (D) ©e{íke Yf{ýe Ëuðe

044. rsÕ÷k økúk{ rðfkMk MktMÚkk (DRDA) nuX¤ Lke[uLkk Ãkife fE Mkr{ríkLkk Mk{kðuþ ÚkÞu÷ LkÚke ?

(A) rþûký yLku ykhkuøÞ Mkr{rík (B) økðoLkªøk Mkr{rík

(C) rðS÷LMk yLku {kuLkexhªøk Mkr{rík (D) fkhkuçkkhe Mkr{rík

045. ¼khíkLkk çktÄkhý{kt yLkwåAuË{kt yMÃk]~Þíkk Mk{kÃík fhðk{kt ykðe Au ?

(A) yLkwåAuË 42 (B) yLkwåAuË 15

(C) yLkwåAuË 17 (D) yLkwåAuË 26

046. Mkhfkhu Mkíkík ºkeS ð¾íkLke [qtxýe{kt çkeLk nrhV (Mk{hMk) Úkíke yLku 5000 Lke WÃkhLke ðMíke Ähkðíke økúk{ Ãkt[kÞíkLku
fux÷w yLkwËkLk {¤u Au ?

(A) Yk. 2,50,000 (B) Yk. 3,12,500

(C) Yk. 4,68,750 (D) Yk. 3,75,000

047. fÞk hkßÞLkk ÃkkxLkøkh{kt nkEfkuxo ykðu÷ Au ?

(A) ykurhMMkk (B) A¥keMkøkZ

(C) fuh¤ (D) rn{k[÷ «Ëuþ
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048. «ðh Mkr{rík fkuLke çkLku÷e nkuÞ Au ?

(A) MktMkËLkk çktLku øk]nLkk rLk»ýktík MkÇÞkuLke (B) {kºk ÷kufMk¼kLkk MkÇÞku

(C) {kºk hkßÞMk¼kLkk MkÇÞku (D) rðÄkLk Mk¼k yLku rðÄkLk Ãkrh»kËLkk MkÇÞku

049. ïuíkÃkºk yux÷u þwt ?
(A) ÷kufMk¼k{kt rðÄuÞf îkhk hòw fhkÞu÷ ËMíkkðus (B) hk»xÙeÞ çkkçkíku «økx fhu÷ku yøkíÞLkku ËMíkkðus

(C) yuf «fkhLkku Ÿ[e òíkLkku fkøk¤ (D) yuf Ãký Lk®n

050. LkkøkrhfkuLke ‘{q¤¼qík Vhòu’ ytøku fÞwt rðÄkLk ¾kuxwt Au ?

(A) {q¤¼qík Vhòu MkhËkh Mðýo®Mkn Mkr{ríkLke ¼÷k{ýku ykÄkhu ykðe Au.

(B) 42{kt çktÄkhýeÞ MkwÄkhk îkhk 1976{kt çktÄkhý{kt {q¤¼qík Vhòu Mkk{u÷ fhðk{kt ykðe.

(C) 2003{kt çktÄkhý{kt yuf Lkðe Vhs W{uhðk{kt ykðe.

(D) {q¤¼qík VhòuLke òuøkðkE çktÄkhýLke f÷{ 51-A {kt fhðk{kt ykðe Au.

051. 15{e ÷kufMk¼kLke [qtxýe{kt fux÷k hk»xÙeÞ yLku fux÷k hkßÞfûkkLkk Ãkûkku [qtxýe ÷zâk níkk ?

(A) 6 hk»xÙeÞ 35 hkßÞfûkkLkk (B) 6 hk»xÙeÞ 40 hkßÞfûkkLkk

(C) 7 hk»xÙeÞ 40 hkßÞfûkkLkk (D) 8 hk»xÙeÞ 39 hkßÞfûkkLkk

052. hkßÞLke ÄkhkMk¼kLkk rðÄkLk Ãkrh»kË øk]nLkk MktË¼o{kt fÞwt/fÞk rðÄkLk Mkk[wt/Mkk[kt Au Þ

1. rçknkh, W¥kh«Ëuþ, {nkhk»xÙ, fýkoxf, yktÄú«Ëuþ yLku sB{w fk~{eh{kt rðÄkLk Ãkrh»kË Au.
2. rðÄkLk Ãkrh»kËLkk 1/6 (yuf »k»¢{ktþ) MkÇÞkuLke rLk{ýqtf hkßÞÃkk÷ fhu Au.

3. rðÄkLk Ãkrh»kËLkk fw÷ 2/3 MkÇÞkuLke Ãkhkuûk [qtxýe ÚkkÞ Au.

(A) Võík 1 (B) Võík 1 yLku 2

(C) Võík 2 yLku 3 (D) 1, 2 yLku 3

053. Mkhfkhu yLkwMkqr[ík ûkuºkku {kxu Ãkt[kÞík rðMíkkh yrÄrLkÞ{ 1996 (PESA) ÃkMkkh fÞkuo, íku{kt Lke[uLkk Ãkife fÞku yuf WÆu~Þ
Lkk YÃk{kt yku¤¾ðk{kt ykðíkku LkÚke ?

(A) MðþkMkLk «ËkLk fhðwt (B) ÃkkhtÃkrhf yrÄfkhkuLku {kLÞíkk

(C) sLk òríkÞ ûkuºk{kt MðkÞ¥k ûkuºkLkwt rLk{koý (D) sLk òríkÞ ÷kufkuLku þku»ký {wõík fhðk

054. Mk{ðkÞe íktºkLkku rð[kh fÞk ËuþLkk çktÄkhý{ktÚke ÷uðk{kt ykðu÷ Au ?

(A) s{oLke (B) hrþÞk

(C) ykÞ÷uoLz (D) fuLkuzk

055. Mktr[ík rLkrÄ þuLkwt çkLku÷wt Au ?

(A) yufMkkEÍ zâwxe (B) ykðf ðuhk
(C) {LkkuhtsLk ðuhku (D) fuLÿ MkhfkhLke Ëhuf ík{k{ {nuMkq÷e ykðf

056. Mk{økú rðï{kt {kLkð yrÄfkh ËeLk õÞkhu WsðkÞ Au ?

(A) 11{e Vuçkúwykhe (B) 1 zeMkuBçkh

(C) 10 zeMkuBçkh (D) 1 òLÞwykhe

057. ¼khíkLkk «Úk{ Lkkýkt Ãkt[Lkk yæÞûk fkuý níkk ?

(A) fu. Mke. rLkÞkuøke (B) ðe. Ãke. ®Mkn

(C) zkp. ykE. S. Ãkxu÷ (D) f. {k. {wLkþe
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058. MkuLxÙ÷ rðrs÷LMk fr{þLkLke MÚkkÃkLkk fkuLke ¼÷k{ýku îkhk ÚkE níke ?

(A) økrhðk÷k ynuðk÷ (B) f]Ãk÷kýe Mkr{rík

(C) MktÚkkLk{ Mkr{rík (D) «þkMkrLkf MkwÄkhk ykÞkuøk

059. yuf fwxwtçkLke «Úk{ ºký {kMkLke Mkhuhkþ {krMkf ¾[o Yk. 2200 níkku. çkeò [kh {kMk {kxu Yk. 2150 yLku ð»koLkk çkkfeLkk
Ãkkt[ {kMk {kxu Yk. 3120 níkku. òu ð»ko Ëhr{ÞkLk çk[ík Yk. 1260 nkuÞ íkku fwxwtçkLke Mkhuhkþ {krMkf ykðf þkuÄku.

(A) 2600 (B) 3000
(C) 2705 (D) 2750

060. 6 yLku 34 Lke MktÏÞkLke ðå[uLke ykðíke Ãkkt[ ðzu ¼køke þfkÞ íkuðe ík{k{ MktÏÞkLke Mkhuhkþ þkuÄku.
(A) 18 (B) 20
(C) 24 (D) 30

061.
75983 75983 45983 45983

30000
   

 
 

 rLk ®f{ík þkuÄku.

(A) 1,21,966 (B) 1,20,966

(C) 1,21,000 (D) WÃkh Ãkife fkuE Lk®n

062. 20 yð÷kufLkLke Mkhuhkþ 15 Au íkku Ëhuf yð÷kufLkLku 4 ðzu økwýe 5 ðzu ¼køkíkk Lkðe Mkhuhkþ þwt {¤u ?

(A) 60 (B) 63
(C) 12 (D) 20

063. çku MktÏÞkLkk ½LkLkku Mkhðk¤ku 1729 Au, su Ãkife yuf MktÏÞk 10 nkuÞ íkku çkeS MktÏÞk þkuÄku.

(A) 8 (B) 7
(C) 9 (D) 6

064. yuf ËwfkLkËkh huzeÞkuLke AkÃku÷e ®f{ík WÃkh 20% «Úk{ zeMfkWLx (ð¤íkh) ykÔÞk ÃkAeLke ®f{íkLkk 12% ðÄkhkLkwt
rzMfkWLx ykÃku Au. òu huzeÞkuLke yk¾he ðu[ký rf{ík Yk. 704/- nkuÞ íkku AkÃku÷e ®f{ík fux÷e nþu ?

(A) Yk. 844.80 (B) Yk. 929.28

(C) Yk. 1000/- (D) Yk. 1044.80

065. yuf rÃkíkk yLku ÃkwºkLke ô{hLkku økwýku¥kh 7 : 3 Au òu íku{Lke ô{hLkku Mkhðk¤ku 60 ð»ko nkuÞ íkku íku{Lke ô{hLkku íkVkðík fux÷ku
nþu ?

(A) 42 (B) 18
(C) 24 (D) 60

066. 70, 42 yLku 98 Lkku økw. Mkk. y. .......... Au ?

(A) 2 (B) 7
(C) 14 (D) 28

067. yuf ÔÞÂõík Yk. 5000, 2 ð»ko {kxu 4% Lkk ðkŠ»kf MkkËk ÔÞksLkk Ëhu {u¤ðu Au yLku íkwhíks çkeò ÔÞÂõíkLku 
16
4 Lkk ðkŠ»kf

Ëhu 2 ð»ko {kxu ykÃke Ëu Au, íkku yk ÔÞðnkh{kt íkuLku «rík ð»ko ÚkÞu÷ku VkÞËku þkuÄku.

(A) 112.50 (B) 225
(C) 150 (D) 167.50
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068. yuf ¾uzqík Yk. 3600 ðkŠ»kf 15% ÷u¾u MkkËk ÔÞksu rÄhkýÚke {u¤ðu Au, ÃkAeLkk 4 ð»koLkk ytíku íkuýu Yk. 4000 hkufzk yLku
yuf økkÞ ykÃkeLku rÄhkýLkku rnMkkçk [qfíku fÞkuo, íkku økkÞLke ®f{ík fux÷e nþu ?

(A) Yk. 1000 (B) Yk. 1550

(C) Yk. 1200 (D) Yk. 1760

069. yuf xÙuELk MxuþLk A Úke B ðå[uLkwt 60 rf.{e.Lkwt ytíkh 45 r{rLkx{kt fkÃku Au, òu xÙuELkLke ÍzÃk 5 rf.{e./f÷kf Äe{e
fhðk{kt ykðu íkku MxuþLk A Úke B íkhV ÃknkU[íkk fux÷ku Mk{Þ ÷køkþu ?
(A) 50 r{rLkx (B) 48 r{rLkx

(C) 58 r{rLkx (D) 54 r{rLkx

070. rË÷eÃk, hk{ yLku yðíkkh yu yLkw¢{u Yk. 2700, Yk. 8100 yLku Yk. 7200 Lkwt hkufký fhe ËwfkLk þY fhe. yuf ð»koLkk
ytíku LkVkLke ðnU[ýe fhðk{kt ykðe. òu hk{Lku ¼køku Yk. 3600 ykðu Au, íkku fw÷ LkVku fux÷ku ÚkÞku nþu ?

(A) Yk. 8000 (B) Yk. 10800

(C) Yk. 11600 (D) {krnrík yÃkqhíke Au.

071. Lke[uLkk Ãkife fÞw ÷eÃk RÞh LkÚke ?
(A) 700 (B) 800
(C) 1200 (D) 2000

072. yuf ÔÞÂõíkyu {kuçkkE÷ yLku hur£shuxh yLkw¢{u Yk. 12000 yLku Yk. 10000 Lkk ®f{íku ¾heËÞk. íkuýu hur£shuxh 12%
Lkk LkwfþkLkÚke yLku {kuçkkE÷ 8% Lkk LkVkÚke ðu[e LkkÏÞk, íkku yuftËhu þwt LkVku/¾kux Úkþu ?

(A) ¾kux Yk. 280 (B) ¾kux Yk. 240

(C) LkVku Yk. 2060 (D) LkVku Yk. 2160

073. Lke[uLkk rðÄkLkku Ãkife Mkk[w rðÄkLk/rðÄkLkku [fkMkku.
1. Mxu{Mku÷ ÃkkMku þhehLkk fkuE Ãký ytøkLku rðfMkkððkLke ûk{íkk nkuÞ Au.

2. Mxu{Mku÷ çkk¤fLkk sL{ MkkÚku Lkkr¼ MkkÚku òuzkÞu÷e øk¼oLkk¤{kt s nkuÞ Au.

(A) Võík 1 (B) Võík 2

(C) 1 yLku 2 (D) yuf Ãký Lk®n

074. [tÿÞkLk-2 Lkk MktË¼o{kt Lke[u rðÄkLkku íkÃkkMkku.

1. ÞkLkLkk ºký rðrþü ¼køkku{kt (i) ykuçkeoxh (ii) ÷uLzh yLku (iii) hkuðhLkku Mk{kðuþ ÚkkÞ Au.

2. «¿kkLk Lkk{Lkwt hkuðh (Rover) [tÿLke MkÃkkxe Ãkh Ône÷Lke {ËËÚke [k÷þu yLku {kxe íkÚkk ¾zfkuLkk Lk{qLkk yufºk fhþu.

3. [tÿÞkLk-2 PSLV-XL-CII Lkk{Lkk hkufux îkhk ÷kuL[ fhðk{kt ykÔÞwt níkwt.

4. ykuçkeoxh ÷uLzh yLku hkuðh, yu ºkýuÞ ¼khík{kt MktÃkqýo MðËuþe çkLkkðxÚke rðfMkkððk{kt ykÔÞk Au.

(A) rðÄkLk 1, 2 yLku 3 Mkk[k Au. (B) {kºk 1 yLku 2

(C) {kºk 2 yLku 3 (D) rðÄkLk 1, 2 yLku 4 Mkk[k Au.

075. íkksuíkh{kt Mkkih {tz¤Lkk fÞk økúnLkk 12 Lkðk WÃkøkúnku þkuÄe fkZðk{kt ykÔÞk Au ?
(A) þrLk (B) {tøk¤

(C) ÞwhuLkMk (D) økwY

076. Ãk]Úðe Ãkh MkkiÚke ðÄw {kºkk{kt {¤e ykðíkwt Äkíkw ík¥ð .......... Au.

(A) yuÕÞwr{LkeÞ{ (B) [ktËe

(C) rLkf÷ (D) sMkík
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077. [qtxýe ð¾íku {íkËkhkuLke yktøk¤e WÃkh ÷økkððkLke yrð÷kuÃÞ þkne çkLkkððk{kt þkLkku WÃkÞkuøk ÚkkÞ Au ?
(A) VuhMk MkÕVux (B) rMkÕðh çkúku{kEz
(C) rMkÕðh LkkExÙux (D) LkkErxÙf yurMkz

078. çkŠnøkku¤ ÷uLMkLkku WÃkÞkuøk Lke[uLkk Ãkife .......... {kt Úkíkku LkÚke.
(A) Mkwû{ Ëþof Þtºk (B) ËqhçkeLk
(C) ðknLkkuLkk MkkEz r{hh (D) xku[o ðknLkkuLke nuz ÷kEx{kt

079. rðr¼LLk htøkkuLkk «fkþ WíÃkLLk fhðk .......... økuMkLkku WÃkÞkuøk ÚkkÞ Au.
(A) yu{kurLkÞk (B) rnr÷Þ{
(C) rLkÞkuLk økuMk (D) ykuøkoLk økuMk

080. rð¿kkLk yLku xufLkku÷kuS ûkuºku {rn÷kykuLkw «ËkLk yLku ûkuºk MktçktrÄík ÞkËe I Lkk Lkk{kuLku ÞkËe II Lkk ûkuºk MkkÚku ÞkuøÞ heíku
òuzku.

 ÞkËe I  ÞkËe II
1. òLkfe yB{k a. hMkkÞý þkMºk
2. zkp. EÂLËhk yknwò b. ðLkMÃkrík
3. yMke{k [uxhS c. økrýík þkMºk{kt {kLk Mktøkýf
4. þfwLík÷k Ëuðe d. íkçkeçke
(A) 1 - b, 2 - d, 3 - a, 4 - c (B) 1 - b, 2 - a, 3 - c, 4 - d
(C) 1 - c, 2 - d, 3 - a, 4 - b (D) 1 - b, 2 - a, 3 - c, 4 - d

081. WWW Lkwt ÃkwY Lkk{ World Wide Web Au. .......... Lku íkuLkku þkuÄf {kLkðk{kt ykðu Au.
(A) hu. xku{r÷MkLk (B) xku{ çkLkoMko
(C) su. yuMk. rfÕçke (D) [kÕMko çku÷us

082. ‘fBÃÞwxh’ MktçktrÄík Lke[uLkk rðÄkLkku Ãkife fÞk/fÞw rðÄkLk Mkk[w/Mkk[k Au ?
1. ¼khík{kt çkLku÷w «Úk{ fBÃÞwxh rMkØkÚko níkw, íkuLkw rLk{koý E÷uõxÙkurLkf fkuÃkkuohuþLk ykuV EÂLzÞk îkhk fhðk{kt ykÔÞwt níkw.
2. ‘yLkwÃk{’ yu ¼k¼k Ãkh{kýwt MktþkuÄLk fuLÿ îkhk rðfMkkððk{kt ykðu÷wt MkwÃkh fkuBÃÞwxh Au.
3. ði¿kkrLkfkuLkk {ík «{kýu ¼khíkLke MktMf]ík ¼k»kkLku fkuBÃÞwxhef]ík fhðe MkkiÚke y½he Au.
(A) Võík 3 (B) Võík 1 yLku 2
(C) Võík 2 yLku 3 (D) 1, 2, 3 yLku 4

083. ¼khík{kt {uxÙku hu÷ Mkuðk nk÷{kt .......... þnuh{kt fkÞohík LkÚke ?
(A) økwzøkktð (B) sÞÃkwh
(C) [uLLkE (D) niËhkçkkË

084. íkksuíkh{kt fuLÿ Mkhfkh îkhk çku {tºkk÷ÞLku {so fheLku s¤þÂõík Lkk{Lkk Lkðk {tºkk÷ÞLke h[Lkk fhðk{kt ykðe Au, íku fÞk
fÞk Au ?
1. ÃkuÞs¤ yLku MðåAíkk
2. s¤MktMkkÄLk Lknuh rðfkMk yLku øktøkk Mkthûký
3. s¤ MktMkkÄLk, LkËe rðfkMk yLku øktøkk Mkthûký
(A) 1 yLku 2 (B) 1 yLku 3
(C) 2 yLku 3 (D) ºký{ktÚke yuf Ãký Lk®n
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085. Mkw¼k»k[tÿ çkkuÍLke sL{ sÞtrík rLkr{¥ku ònuh fhu÷ «Úk{ “Mkw¼k»k[tÿ çkkuÍ rzÍkMxh {uLkus{uLx (ykÃkr¥k ÔÞðMÚkkÃkLk)”
yuðkuzo 2019 .......... Lku yuLkkÞík ÚkÞku Au.

(A) NDRF Lke Ãkkt[{e çkxkr÷ÞLk (B) NDRF Lke 8{e (ykX{e) çkxkr÷ÞLk

(C) NDRF Lke Aêe çkxkr÷ÞLk (D) NDRF Lke [kuÚke çkxkr÷ÞLk

086. ¼khíkLkk MkkiÚke ÷ktçkk yuõMk«uMkðuLkku rþ÷kLÞkMk 2018{kt fhðk{kt ykÔÞku Au íku .......... Au.

(A) ÷¾Lkki ykøkúk yuõMk«uMkðu, ÃkqðkO[÷ yuõMk«uMkðu (B) ÷¾Lkki økkÍeÃkwh yuõMk«uMkðu

(C) Þ{wLkk yuõMk«uMkðu (D) WÃkhkuõík Ãkife fkuE Lk®n

087. 20 Úke 28 LkðuBçkh 2019 Ëhr{ÞkLk ELxhLkuþLk÷ rVÕ{ VuMxeð÷ ykpV ELzeÞk 2019Lkwt ykÞkusLk õÞkt fhðk{kt ykÔÞwt Au ?

(A) {wtçkE (B) økkuðk

(C) Lkðe rËÕne (D) çkUøkk÷wY

088. rðïLke MkkiÚke sqLke yLku MkkiÚke ðÄw «ríkrcík xurLkMk xwLkko{uLxLkwt Lkk{ þwt Au ?

(A) £uL[ ykuÃkLk (B) Þw. yuMk. ykuÃkLk

(C) rðBçkÕzLk [uÂBÃkÞLkþeÃk (D) ykuMxÙur÷ÞLk ykuÃkLk

089. íkksuíkh{kt 2 Úke 20 òw÷kE Ëhr{ÞkLk Mkw©e rn{k ËkMku fE EðuLx{kt fw÷ 5 økkuÕz {uz÷ SÕÞk Au ?

(A) 200 {exh Ëkuz{kt 1 + 400 {exh Ëkuz{kt 4 (B) 200 {exh Ëkuz{kt 2 + 400 {exh Ëkuz{kt 3

(C) 200 {exh Ëkuz{kt 3 + 400 {exh Ëkuz{kt 2 (D) 200 {exh Ëkuz{kt 4 + 400 {exh Ëkuz{kt 1

090. Mkw©e yirnfk {w¾SoLkwt Lkk{ fE h{ík MkkÚku Mktf¤kÞu÷ Au ?

(A) xuçk÷ xuLkeMk (B) 400 {exh Ëkuz

(C) r¢fux (D) [uMk

091. ELxhLkuþLk÷ fkuxo ykpV sMxeMk (ICJ) {kt nk÷Lkk ¼khíkLkk LÞkÞrÄþLkwt Lkk{ .......... Au.

(A) Ë÷ðeh ¼tzkhe (B) sMxeMk {ËLk ÷kufwh

(C) LkkøkuLÿ ®Mkn (D) h½wLktËLk MðYÃk ÃkkXf

092. ðÕzo çkuLfLkk ðíko{kLk yæÞûk fkuý Au ?

(A) r¢Mxkr÷Lkk ßÞkuŠsðk (B) zurðz {kÕÃkMk

(C) rs{ ÞkUøk rf{ (D) ytþw÷k fkLík

093. íkksuíkh{kt rçkúxLkLkk øk]n{tºke çkLkLkkh ¼khíkeÞ {q¤Lkk «Úk{ MkktMkË fkuý Au ?

(A) ©e MkkrsË òrðË (B) ©e yk÷kuf þ{ko

(C) ©e rhr»k MkwLkkf (D) Mkw©e «erík Mkwþe÷ Ãkxu÷

094. Ëuþ¼h{kt fE ½xLkkLkk ÃkuLzªøk fuMkkuLkku ÍzÃke [wfkËku ykðu íku ytøku 1000 VkMx xÙuf MÃku~Þ÷ fkuxo çkLkkððkLke «r¢Þk 2S
ykuõxkuçkh 2019 Úke þY Úkþu ?

(A) {kuçk r÷®[øk (B) Ëw»f{o

(C) LkkuxçktÄe MktË¼uo fk¤w Lkkýwt (D) ykíktfðkË
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095. ‘¼khík híLk’ yuðkuzo MktçktrÄík Lke[uLkk ðkõÞku íkÃkkMkku.

1. Mkðkuoå[ Lkkøkrhf MkL{kLk Au.

2. f÷k MkkrníÞ rð¿kkLk, MkkðosrLkf Mkuðk íku{s Wå[ WÃk÷ÂçÄ {kxu yÃkkÞ Au.

3. ‘¼khík híLk’Lke rzÍkELk «ÏÞkík r[ºkfkh hkò hrðð{koyu çkLkkðu÷ Au.

4. ¼khík{kt yrøkú{íkkLkk ¢{{kt MkL{krLkík ÔÞÂõíkLku 7{wt MÚkkLk yLku fuLÿeÞ fuçkeLkux {tºke Mk{fûkLkku Ëhßòu {¤u Au.

Wõík rðÄkLkku Ãkife fÞwt/fÞk rðÄkLkku Mkk[w/Mkk[k Au ?

(A) Võík 1, 2 yLku 4 (B) Võík 1 yLku 2

(C) Võík 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

096. r¢fux ðÕzo fÃk 2019{kt LÞwrÍ÷uLzLkk fÞk Ã÷uÞh Lku Ã÷uÞh ykuV Äe MkeheÍ ònuh fhkÞu÷ níkk ?

(A) çkuLk MxkuõMk (B) EÞkuLk {kuøkoLk

(C) fuLk rðr÷ÞBMkLk (D) {ux nuLkhe

097. íkksuíkh{kt Ex÷eLkk LkkÃkku÷e (LkuÃkÕMk) ¾kíku ykÞkuSík ðÕzo ÞwrLkðŠMkxe økuBMk 2019{kt .......... yu 100 {exh Ëkuz{kt
økkuÕz {uz÷ SíÞku níkku ?

(A) Mkw©e rn{kËkMk (B) Mkw©e Ãke. xe. W»kk

(C) Mkw©e Ëwíke[tË (D) ºký{ktÚke yufÃký Lk®n

098. Vqxçkkp÷ ðÕzo fÃk 2018 MkkÚku Mktf¤kÞu÷ yuðkuzo yLku fE rðþu»kíkk {kxu ykÃkðk{kt ykðu Au ? íkuLke ÞkËe I yLku II Lku ÞkuøÞ
heíku òuzku.

 ÞkËe I               ÞkËe II

1. økkuÕzLk çkqx a. ðÕzo fÃk{kt MkkiÚke ðÄw økku÷ fhðk çkË÷

2. økkuÕzLk çkkp÷ b. MkkiÚke ykuAk Þ÷ku fkzo {u¤ðLkkh xe{Lku

3. økkuÕzLk ø÷kpÔÍ c. Ã÷uÞh ykuV Äe xwLkko{uLxLku

4. Vuh Ã÷u yuðkuzo d. ðÕzo fÃkLkk ©uc økku÷ feÃkhLku

(A) 1 - a, 2 - c, 3 - b, 4 - d (B) 1 - b, 2 - a, 3 - c, 4 - d

(C) 1 - c, 2 - d, 3 - a, 4 - b (D) 1 - a, 2 - c, 3 - d, 4 - b

099. GI xuøk (¼kiøkkur÷f Mktfuík) yu fkuE ðMíkw fu WíÃkkËLke rðrþü ¼kiøkkur÷f yku¤¾ Ëþkoðu Au, su ytíkøkoík fuh¤Lke ríkYh
MkkuÃkkhe yLku yLÞ ºký «kuzõx Ãký íkksuíkh{kt ònuh fhkÞu÷ Au, Ãkhtíkw Lke[uLkk Ãkife fE «kuzõx Lkku Mk{kðuþ Úkíkku LkÚke ?

(A) r{Íkuhk{Lkk ÞwykLk [uE ðMºkku (B) íkkr{÷LkkzwLkk yuf {trËhLkku «MkkË Ãk÷kLke Ãkt[k{]ík

(C) fuh¤Lkk fkòw (D) r{Íkuhk{Lkwt íkk÷ku nkÞwykLk Vkurçkúf

100. EÍhkÞu÷Lke MktMkËu 2018{kt EÍhkÞu÷Lku ÞnqËeykuLkk Ëuþ íkhefu yku¤¾kðíkku fkÞËku ÃkMkkh fÞkuo Au íkuLke MkkÚkus nðu
.......... EÍhkÞu÷Lke hk»xÙ¼k»kk çkLkþu.

(A) yhçke (B) rnçkúw

(C) ÞnwËe (D) ytøkúuS
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Useful data:
R = 8.314 JK-1mol-1=1.987 Cal/mol-K= 82.06 cm3atm/mol-K, Atomic masses of H, O, C, N = 1.0, 16.0,
12.0, 14 g mol-1 respectively; 1 bar = 0.9869 atm= 750 torr , Avogadro constant = 6.022 x 1023 mol-1 ; F =
96500 C/mol; c = 3 x 108 m/s; h = 6.626 x 10 -34 J s ; log10 2 = 0.3010
101. For the complex K3[Co(NO2)6], the number of particles expected to be shown by  cryoscopic

measurement is _____
(A) 2 (B) 3
(C) 4 (D) 10

102. Primary valency of [Cr(CO)6] is _____
(A) 0 (B) 1
(C) 2 (D) 3

103. The effective atomic number of central metal ion in the complex [Ni(CO)4] is _____
(A) 34 (B) 35
(C) 36 (D) 38

104. Spontaneous oxidation of heme bound Fe(II) to Fe(III) is mainly prevented in hemoglobin by
_____
(A) the four heme-protein covalent bonds
(B) highly ordered water molecules near the heme
(C) the surrounding protein structure in each subunit
(D) methemoglobinreductase

105. Which of the following is correct?
(A) Hemoglobinexhibits cooperative effect and Bohr effect
(B) Hemoglobinexhibits cooperative effect but not Bohr effect
(C) Myoglobin exhibits cooperative effect and Bohr effect
(D) Myoglobin exhibits cooperative effect but not Bohr effect

106. The chemical which is used for the treatment of cyanide poisoning is _____
(A) Amyl nitrite (B) Potassiumferricyanide
(C) Potassium ferrocyanide (D) Glucose

107. The function of myoglobin is _____
(A) storage of oxygen (B) transfer of oxygen to heart
(C) transfer of CO2 to lungs (D) transfer of CO2 to heart

108. The active centre of cytochrome is _____ group.
(A) heme (B) corrin
(C) chlorin (D) porphine

109. Which is the most electronegative element given below?
(A) Na (B) Cs
(C) O (D) C

110. Based on crystal field theory, the d-electron configuration of iron in oxyhemoglobin is____.
(A) t2g

6eg
0 (B) t2g

4eg
2

(C) eg
4t2g

2 (D) eg
3t2g

3
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111. The metal – metal bond in [Re2Cl8]2- consists of _____
(A) one  bond and three  bonds
(B) one   bond, two  bonds and one  bond
(C) two  bonds, one  bond and one  bond
(D) one  bond, one  bond and two  bonds

112. Among the following metal ions, which one has the largest ionic radius?
(A) Ba2+ (B) Sr2+

(C) Ca2+ (D) Mg2+

113. Which among the following has highest first ionization energy?
(A) F (B) Cl
(C) Na (D) K

114. The diagonal relationship of beryllium is with _____
(A) Al (B) Si
(C) Mg (D) Ca

115. Which of the following group of elements form anions easily?
(A) Alkali metals (B) Alkaline earth metals
(C) Halogens (D) Noble gases

116. The element with electronic configuration [Ar]3d104s24p2 comes under which group in the
periodic table?
(A) Boron group (B) Carbon group
(C) Nitrogen group (D) Oxygen group

117. The reaction between SiO2 and CaO can be best explained by _____ acid-base concept.
(A) Lux - Flood concept (B) Lowry - Bronsted concept
(C) Lewis concept (D) Arrhenius concept

118. The formation of coordination compounds by the interaction between the metal ion and the
ligands are best explained by _____ concept.
(A) Lux- Flood concept (B) Lowry - Bronsted concept
(C) Lewis concept (D) Solvent system concept

119. Urea act as __________
(A) Acidic substance in presence of NH3

(B) Basic substance in NH3 and in H2SO4

(C) Neutral substance in NH3 and in H2SO4

(D) Acidic substance in H2SO4

120. _____ have acceptor atom with high positive charge.
(A) Hard acid (B) Hard base
(C) Soft acid (D) Soft base

121. LiF is a combination of _____ and _____
(A) Soft acid, soft base (B) Soft acid, hard base
(C) Hard acid, hard base (D) Hard acid, soft base
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122. Which among the following is a protic solvent?
(A) Acetone (B) Sulfuric acid
(C) dimethylformamide (D) acetonitrile

123. The characteristic blue colour of the alkali metal ions in liquid NH3 is due to _____
(A) Solvated metal ion (B) Solvated proton
(C) Solvated neutron (D) Solvated electron

124. Sulfuric acid is a good solvent for __________
(A) Ionic substances because its dielectric constant is very high
(B) Ionic substances because its dielectric constant is very low
(C) Covalent substances because its dielectric constant is very high
(D) Covalent substances because its dielectric constant is very low

125. The shape of XeF4 is _____
(A) square planar (B) Octahedral
(C) Tetrahedral (D) Square pyramidal with Xe at the corner

126. According to molecular orbital approach, the number of 3-centre-4-electron bond(s) in XeF4
is _____
(A) 1 (B) 2
(C) 3 (D) 4

127. The shape of XeF5
¯ anion is _____

(A) Square pyramidal with Xe at the centre of the pyramid
(B) Square pyramidal with Xe at the centre of the square base
(C) Pentagonal planar
(D) trigonal bipyramidal

128. The complexes [Co(NH3)5NO2]Cl2 and [Co(NH3)5(ONO)]Cl2 are __________
(A) Geometrical isomers (B) Linkage isomers
(C) Ionization isomers (D) Coordination isomers

129. Which of the following complexes is not expected to show optical isomerism? (M = metal ion,
EDTA = ethylenediaminetetraacetate)
(A) [M(oxalate)3]3- (B) trans-[M(NH3)4Cl2]
(C) [M(EDTA)]2+ (D) [cis-M(ethylenediamine)2Cl2]+

130. Which of the following compounds will have highest crystal field splitting factor?
(A) [Co(NH3)6]3+ (B) [Rh(NH3)6]3+

(C) [Ir(NH3)6]3+ (D) [CoF6]3-

131. Which among the following ligands is the strongest as per the spectrochemical series?
(A) CN¯ (B) NO2¯
(C) H2O (D) Cl¯

132. Which of the following ion has zero crystal field stabilization energy in an octahedral field?
(A) Cr3+, high spin (B) Co2+, low spin
(C) Fe3+, high spin (D) Fe2+, high spin
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133. Which is the correct order of decrease in spin only magnetic moment?
(A) [CoCl4]2¯ > [FeCl4]¯> [Fe(CN)6]3¯ (B) [CoCl4]2¯ = [FeCl4]¯> [Fe(CN)6] 3¯
(C) [FeCl4]¯> [CoCl4]2¯ > [Fe(CN)6] 3¯ (D) [Fe(CN)6] 3¯  > [CoCl4]2¯ = [FeCl4]¯

134. Displacement of NH3 by Cl¯ ion from [Pt(NH3)4]2+ results in the formation of _____
(A) cis-[Pt(NH3)2Cl2] (B) trans-[Pt(NH3)2Cl2]
(C) [Pt(NH3)3Cl3]¯ (D) [Pt(NH3)2Cl4]2¯

135. Of the following, which species do not follow 18-electron rule?
(A) [Cr(CO)6] (B) [Mn(CO)5]¯
(C) [Co(CO)4]¯ (D) [PtCl4]2¯

136. Fischer carbene and Schrock carbene are __________
(A) singlet state and triplet state carbene, respectively
(B) triplet state and singlet state carbene, respectively
(C) both singlet state carbenes
(D) both triplet state carbene

137. Wilkinson catalyst is _____
(A) Co2(CO)8 (B) (Ph3P)3RhCl
(C) [PdCl4]2- (D) [PtCl4]2-

138. Of the following, which one is Wacker process?
(A) Alkene hydrogenation reaction
(B) hydroformylation reaction
(C) preparation of acetic acid from methanol
(D) preparation of acetaldehyde from alkene

139. One of the compounds involved in the preparation of Ziegler Natta catalyst is _____
(A) TiCl4 (B) FeBr2

(C) K4[Fe(CN)6] (D) K3[Fe(CN)6]
140. Which of the following isotope is used to find out the age of fossils? (the number in the bracket

represents the mass number)
(A) Hydrogen-3 (B) Carbon-14
(C) Oxygen-18 (D) Uranium-235

141. Which of the following has a linear structure?
(A) H2Se (B) SO2

(C) C2H2 (D) SnCl2
142. The octet rule is not followed in __________

(A) LiF (B) Cl2
(C) CaF2 (D) BF3

143. Which of the following hybridization of the central atom results in hybridized orbitals that are
not in the same plane?
(A) sp3 (B) sp2

(C) sp (D) dsp2
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144. The most suitable indicator that can be used for the titration of a weak acid and a strong base
is __________
(A) Phenolphthalein (B) Methyl orange
(C) Methyl red (D) bromothymol blue

145. The red colour of methyl orange appears in __________ solution.
(A) K2CO3 (B) NaCl
(C) HCl (D) NaOH

146. The coordination number of central metal ion in the complex K2[Co(NH3)(NO2)5] is?
(A) 1 (B) 2
(C) 5 (D) 6

147. In deoxyhemoglobin, the Fe(II) is 5-coordinated to __________
(A) four nitrogens of heme and to the N of the imidazole of histidine residue of protein
(B) four nitrogens of heme and to a pyridine molecule
(C) four nitrogens of heme and to S of the methionine of protein
(D) two nitrogens of heme and to three histidine residues

148. The higher binding constant of Hb(O2)3 compared to Hb for O2 is due to _____ effect.
(Hb = hemoglobin)
(A) Cooperative effect (B) Bohr effect
(C) Tyndall effect (D) steric effect

149. The electronic configuration of As is _____ (Atomic number of As = 33)
(A) [Ne]4s23d104p3 (B) [Ar]4s23d104p3

(C) [Kr]4s23d104p3 (D) [Xe]4s23d104p3

150. Which of the following pairs of species are isoelectronic?
(A) F- and S2- (B) O2- and Mg2+

(C) Na+ and Ca2+ (D) K+ and Mg2+

151. The reference compound used in the 31P NMR is _______________
(A) H3PO4 (B) PCl5
(C) PCl3 (D) P2O5

152. 19F resonance of BrF5 consists of 2 signals in the intensity ratio 4:1. Intense signal is a doublet
and the weak one is a quintet (1:4:6:4:1).  The shape of BrF5 is _____
(A) square pyramidal (B) Pentagonal planar
(C) trigonal bipyramidal (D) Pentagonal pyramidal

153. Of the following compounds, which pair has same geometry?
(A) NH3, BH3 (B) CCl4, CH4

(C) H2O, CO2 (D) SF4, SiF4

154. Isotopes are elements with different number of __________
(A) Protons (B) Electrons
(C) Neutrons (D) Electrons and neutrons

155. The change of pH near the end point is maximum in the titration of __________
(A) weak acid and weak base (B) weak acid and strong base
(C) strong acid and strong base (D) strong acid and weak base
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156. One rutherford (unit of radioactivity) is equal to __________ disintegration per second.
(A) 103 (B) 106

(C) 108 (D) 1010

157. Which among the following is a carbon allotrope?
(A) Graphite (B) Fullerene
(C) Diamond (D) all of the above

158. Which among the following is a weakest interaction?
(A) Hydrogen bonding interaction (B) Ionic bonding
(C) Covalent bonding (D) van der Waals interaction

159. Two bond pairs of electrons and two lone pairs of electrons are present in _____
(A) NH3 (B) H2O
(C) BF3 (D) CO2

160. Nitrogen fixation is _______________
(A) Catalytic production of nitrogen gas from nitrogen containing compounds
(B) Conversion of nitrogen from atmosphere into nitrogenous compounds
(C) Isolation of nitrogen from air
(D) Liquefying nitrogen gas

161. The ratio of the ground state energy of an electron confined in a cubic box of dimension 1 nm to
the ground state energy of an electron that is confined in 1-d box of dimension 1 nm is equal to
(A) 1 (B) 2
(C) 3 (D) 1/2

162. An electron is accelerated by applying a potential difference of 1000V. By what factor does the
de Broglie wavelength change, if the applied potential difference is doubled?
(A) 0.707 (B) 1.414
(C) 1.732 (D) 0.577

163. -carotene is a linear polyene in which there are 10 single and 11 double bonds along a chain of
22 carbon atoms. If the electrons in this conjugated system is approximated as particle-in-a-1-
d-box of dimension 2.94 nm, the lowest energy electronic excitation corresponds to
(A) n = 1 to n =2 (B) n = 10 to n = 11
(C) n = 11 to n =12 (D) n = 5 to n = 6

164. Quantum mechanical tunneling for a subatomic particle that is confined in a 1-d box occurs
when the
(A) walls of the box have infinite potential energy.
(B) walls of the box have finite potential energy.
(C) Particle wave function is zero outside the box.
(D) Particle wave function is discontinuous at the walls.

165. In which of the following quantum mechanical system, the uncertainty in determining the
position of the subatomic particle can be infinite?
(A) Particle in 1-d box (B) Particle in a ring
(C) Particle in a square well potential (D) Harmonic oscillator
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166. The number of radial nodes in an orbital of n = 3 and l = 0 of a hydrogenic atom is
(A) 0 (B) 1
(C) 2 (D) 3

167. For hydrogen atom, the most probable radius at which an electron in 1s orbital will be found is
at r = ao = 52.9 pm. What will be the approximate most probable radius (in pm) for locating an
electron in hydrogenic 1s orbital of Li2+?
(A) 52.9 (B) 26.5
(C) 17.6 (D) 13.2

168. Which one of the following electronic transition is allowed as per Grotrian diagram for atomic
hydrogen?
(A) 5d to 1s (B) 5s to 1 s
(C) 5p to 2p (D) 3p to 1s

169. The angular part of the wave function of one of the d-orbitals of hydrogen atom is proportional
to 3cos2 –1. The angular node of this orbital occurs at  equals to
(A) 54.74° (B) 60°
(C) 90° (D) 27.37°

170. The ground state electronic configuration of sodium atom is written as [Ne]3s1. The term symbol
arising out of this electronic configuration using Russel-Saunders coupling scheme is
(A) 3P1/2 (B) 3S1/2

(C) 2P1/2 (D) 2S1/2

171. Which one of the following linear combination of s and p orbitals does correspond to sp2 hybrid
orbital?
(A) s + 2py (B) s – 2py

(C) s + 2py (D) s + 3py

172. Which one of the following molecular or ionic species has 10 electrons in the cyclic structure?
(A) C8H8

2– (B) C6H6

(C) C7H7
+ (D) C5H5

–

173. Which one of the following statements is correct with respect to bond order and magnetic
property of B2 molecule? (Atomic number of boron = 5)
(A) Bond order = 2, diamagnetic (B) Bond order = 1, paramagnetic
(C) Bond order = 1.5, diamagnetic (D) Bond order = 2.5, paramagnetic

174. Which one of the following molecules is an example of D3h symmetry?
(A) H2O (B) NH3

(C) HOCl (D) BCl3
175. The classes of symmetry operations for the point group Cs is

(A) E (B) E, h

(C) E, C2 (D) E, C2, I, h

176. Which of the following statement is correct for the concentration cell?
M(s)|M2+ (1.5M)||M2+ (0.015M)|M(s) is
(A) 0 (B) The cell is spontaneous
(C) The cell is non-spontaneous (D) None of the above
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177. The standard cell potentials, AgCl Ag + Cl-, Eo = 0.2223 V; Ag+ + e- Ag,
Eo= 0.799V. What is the solubility product of the reaction AgClAg+ + Cl- at 25oC?
(A) 0.8 x 10-10 (B) 2.8 x 1010

(C) 1.7 x 1010 (D) 1.7 x 10-10

178. The standard electrode potential of Cu2+(aq.)/Cu(s) and Cu+(aq.)/Cu(s), respectively are +0.34
V and +0.52 V. What is the equilibrium constant of the reaction: 2Cu+(aq.)  Cu2+(aq.) + Cu(s)
at 25°C?
(A) 1.0 (B) 1.2 x 108

(C) 1.2 x10-8 (D) 6.8 x 1011

179. Which of the following metals do not liberate hydrogen gas when it is added to dilute HCl?
(A) Zinc (B) Iron
(C) Copper (D) Cesium

180. The rate constant for the reaction A(g) + B (g)  AB(g) is 4.8 x 106 dm3mol-1s-1. Express the rate
constant in cm3 molecule-1 s-1

(A) 8.0 x 1015 (B) 8.0 x 10-15

(C) 2.9 x 10-14 (D) 8.0 x 10-17

181. The half-life of certain enzyme catalyzed first order reaction is 150 s at 298 K. The time constant
for the reaction is?
(A) 690.8 s (B) 462.5 s
(C) 216.5 s (D) 850.2 s

182. Which of the following statements is correct for the following chemical reactions?
(i) A  Products has activation energy of 52 kJ mol-1 and
(ii) B  Products has activation energy of 25 kJ mol-1

(A) Rate of reaction (i) responds strongly than that of reaction (ii) with change in temperature
(B) Rate of reaction (ii) responds strongly than that of reaction (i) with change in temperature
(C) Rate of reactions (i) and (ii) responds in the similar manner with change in temperature
(D) None of the above

183. Food rots about 40 times more rapidly at 25°C than when it is stored at 4°C. The overall activation
energy for the processes responsible for its decomposition is
(A) 24.5 kJ mol-1 (B) 24.5 J mol-1

(C) 59 J mol-1 (D) 59 kJ mol-1

184. The standard cell potential of H2-O2 fuel cell with an overall four electron cell reaction 2H2 (g)
+ O2 (g)  2H2O is +1.2335 V at 293 K and +1.2251 V at 303 K. The standard entropy within
this temperature range is
(A) 0.3 kJ mol-1 K-1 (B) -0.3 kJ mol-1 K-1

(C) 3.1 kJ mol-1 K-1 (D) -3.1 kJ mol-1 K-1

185. The Lineweaver-Burk plot is a graph of
(A) Reaction rate vs. concentration of substrate
(B) Reciprocal of reaction rate vs. concentration of substrate
(C) Reciprocal of reaction rate vs. reciprocal of concentration of substrate
(D) Reaction rate vs. reciprocal of concentration of substrate
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186. The molar conductivity of HCOOH (aq) of concentration 0.020 M is 3.83 mS m2 mol-1. What is
the value of pKa for formic acid?(Given the ionic conductivities of H+ and HCO2

- are 34.96 and
5.46 mS m2 mol-1 respectively)
(A) 1.74 (B) 3.49
(C) 4.74 (D) 3.74

187. The Michaelis constant of an enzyme-catalyzed conversion of substrate at 25oC is 0.05 mol
dm-3. The rate of the reaction is 1.5 mmol dm-3 s-1 when the substrate concentration is 0.1 mol
dm-3. What is the maximum velocity of the reaction?
(A) 1.52 x 10-3 mol dm-3 s-1 (B) 2.25 x 10-3 mol dm-3 s-1

(C) 3.52 x 10-3 mol dm-3 s-1 (D) 4.52 x 10-3 mol dm-3 s-1

188. What is the magnitude of diffusion-controlled rate constant of water at 298K?
(Given viscosity of water is 1 x 10-3 kg m-1 s-1)
(A) 2.3 x 106 m3 mol-1 s-1 (B) 2.3 x 106 dm3 mol-1 s-1

(C) 1.2 x 106 m3 mol-1 s-1 (D) 2.3 x 103 m3 mol-1 s-1

189. What is the biological standard potential of the half-reaction O2(g) + 4H+(aq) + 4e-  2H2O(l)at
25°C given its value is  +1.23 V  under standard thermodynamic conditions.
(A) +0.82 V (B) +1.64 V
(C) -0.82 V (D) + 0.23 V

190. What is the pH of a 10-3 M NaOH solution in water ?
(A) 3 (B) 6
(C) 9 (D) 11

191. Which one among the following is not an extensive property?
(A) Entropy (B) Enthalpy
(C) Density (D) Internal Energy

192. Which of the following molecules are NOT infrared active?
(A) Carbon dioxide (B) Ethylene
(C) Nitrogen (D) Ethane

193. Gold is plated out of a solution of Au3+ by flowing a current of 9.6 A for a period of 30 minutes.
What is the mass of gold plated out? (At. Wt. of Au = 196.96 g mol-1)
(A)  0.196 g (B) 35.3 g
(C) 19.6 g (D) 11.8 g

194. The effective rate constant for a gaseous reaction that has Lindemann-Hinshelwood mechanism
is 2.5 x 10-4 s-1 at 1.3 kPa and 2.1 x 10-5 s-1 at 12 Pa. What is the rate constant for the activation
step in the mechanism?
(A) 1.9 M Pa-1s-1 (B) 1.9 m Pa-1s-1

(C) 4.2 M Pa-1s-1 (D) 19.1 M Pa-1s-1

195. An elemental FCC crystal diffracts X-rays ( = 0.154 nm) at 45° that corresponds to (111)
plane. What is the d spacing in terms of a? (where a is the lattice parameter).
(A) a3 (B) a/3
(C) a/2 (D) a2
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196. For monodisperse polymers, the poly dispersity index has the value

(A) 1.1 (B) 4.0

(C) 30.0 (D) None of the above

197. How is root mean square velocity of a perfect gas proportional to Molecular weight (M) ?

(A) M (B) M1/2

(C) M-1/2 (D) M-1

198. The pressure differential of ethanol across the surface of a spherical droplet of radius 440 nm at
20°C is (surface tension of water is 22.39 mN m-1)

(A) 1 x 105 N m-2 (B) 1 x 105mN m-2

(C) 2 x 108 N m-2 (D) 2 x 1010 N m-2

199. At 25°C, in a capillary of radius 7.36 mm, the water raises through 0.20 mm. The surface
tension of water at this temperature is (given density of water is 0.9971 g m-3)

(A) 25 mN m-1 (B) 72 mN m-1

(C) 72 N m-1 (D) 25 N m-1

200. A 30% of intensity of light beam is decreased when it passed through the sample of path length
1.0 cm. The percentage transmittance of the same solution when it is passed through a path
length of 5.0 cm is

(A) 35.6 (B) 17.8

(C) 50.0 (D) 25.0

201. Which one of the following is a path function?

(A) Gibbs free energy (B) Work

(C) Entropy (D) Enthalpy

202. The maximum wavelength of radiation required to excite electrons from valence band and
conduction bands in the semiconductor gallium arsenide (GaAs) with band gap 1.4 eV is

(A) 355 nm (B) 605 nm

(C) 885 nm (D) 755 nm

203. The total number of electrons involved in the conversion of ethanol to CO2

(A) 6 (B) 12

(C) 8 (D) 14

204. Which of the following molecules do not belong to Cs point group?

(A) Quinoline (B) Acrolein

(C) Formaldehyde (D) Formyl fluoride

205. The temperature above which the surfactants form micelles is known as

(A) Critical temperature (B) Krafft temperature

(C) Neel temperature (D) Curie temperature
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206. Which one of the following molecules shows geometrical isomerism?

(A) 

HOOC
C

Et

ClH (B) Me

Me

Br

Me

(C) Br Cl (D)  H(D)C=C(Cl)Me

207. Which one of the following molecules shows optical isomerism?

(A) 

HOOC
C

Et

EtH (B)  Me

Br

Br

Me

(C)  

O

Br Cl (D)  HMe

Me
HO

Me
Me

208. The absolute configuration of the compound A is

HOOC
C

CH2SH

COOHHSH2C

A
(A) R (B) S
(C) E (D) Z

209. Which one of the following statements is incorrect? A pseudoasymmetric carbon
(A) is stereo genic (B) is chiral
(C) is a part of a meso compound (D) always possess a plane of symmetry.

210. The total number of possible stereoisomers in the following molecule are

                    

Cl

Br
(A) 8 (B) 4
(C) 2 (D) 0

211. The total number of possible stereoisomers in the following molecule are

                    

Cl

Br
(A) 8 (B) 4
(C) 2 (D) 0
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212. The number of optically active stereoisomers in the following molecule are

                    

Cl

Br
(A) 8 (B) 4

(C) 2 (D) 0

213. The number of optically active stereoisomers in the following molecule are

                    

Cl

Br
(A) 8 (B) 4

(C) 2 (D) 0

214. The additional energy cost due to 1,3-diaxial interaction in the more stable conformation of cis-
2-trans-4-trimethyl cyclohexane (B) in Kcal/mole is

                    

 Me

Me

Me

B

(A) 1.8 (B) 3.6

(C) 2.7 (D) 0

215. According to the sequence rule the correct priority order is

(A) –OH>–F>–CHO>–CCH (B) –F>–OH>–CHO>–CCH

(C)  –F>–OH>–CCH >–CHO (D) –CCH>–CHO>–OH>–F

216. An enantioselective reaction predominantly yields (+)-2-bromobutane with 10% contamination
of (–)-2-bromobutane. If the specific rotation of (–)-2-bromobutane is –23.13°, the observed
specific rotation of a sample of the product mixture would be

(A) –20.8° (B) +18.5°

(C) +20.8° (D) -4.6°

217. The following compound is an

                    
D

OH

(A) E-isomer (B) Z-isomer

(C) cis-isomer (D) trans-isomer
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218. The following compounds I & II are

                    

Br
H CH CH2 3

CH CH2 3Br
H

CH CH2 3

Br H
H CH CH2 3

Br

(A) identical molecules (B) a pair of enantiomers

(C) a pair of or diastereomers (D) constitutional isomers

219. The descending order of the ease of HBr addition on the following compounds is
 
i)

Ph

Ph
ii)

Cl
iii) iv)

(A) i >ii > iv > iii (B) ii > iii >  i  > iv

(C) ii >  i > iv > iii (D) i > ii > iii > iv

220. The highest rate of reaction of the following compounds towards EtMgBr.

(A) CH3CHO (B) PhCOCH3

(C) allyl bromide, (D) CH3COOCH2Ph.

221. When NaNO2 solution is added to an ice-cold solution of N, N-dimethylaniline in dil. HCl, the
product formed is

(A) [C6H5NMe2NO]+ (B) o-nitroso N,N-dimethylaniline

(C) p-nitroso N,N-dimethylaniline (D) Me2NC6H4-N=N-C6H4NMe

222. The most suitable reagent for the following conversion is

O O

(A) Me2CuLi (B) MeMgI

(C) MeMgBr (D) MeLi

223. An amine group can be removed from the aromatic ring by diazotization followed by addition
of __________.

(A) H3O+ (B) H3PO2

(C) dil. NH4OH (D) benzene

224. An acid and base resistant protecting group for the primary amine group is

(A) Fmoc (B) Boc

(C) Benzyl (D) Acetyl

225. The most suitable reagents for synthon COOEt  is?

(A) ClCOOEt (B) Et2CO3

(C) HCOOEt (D) CO2/EtOH
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226. The IUPAC name of the following molecule is

Br

Br

(A) (3Z,6E,2R,5S)-2,5-Dibromo-3-ethyl-7-methyl-nona-3,6-diene

(B) (3E,6Z,2S,5S)-2,5-Dibromo-3-ethyl-7-methyl-nona-3,6-diene

(C) (3Z,6E,2S,5R)-2,5-Dibromo-3-ethyl-7-methyl-nona-3,6-diene

(D) (3E,6Z,2S,5R)-2,5-Dibromo-3-ethyl-7-methyl-nona-3,6-diene

227. State which of the following molecules can be resolved/cannot be resolved.

i) 

 

Cl

ii) 
 

O

CO2CH3Ph

(A) both can be resolved (B) both cannot be resolved

(C) only (i) can be resolved (D) only (ii) can be resolved

228. The major product of the following reaction is ________ and reaction is called _________.

 ZnCl2
NHNH2 +

O
?

(A) 
N
H

; Fischer Indole Synthesis

(B) N
H

Et ; Fischer Indole Synthesis

(C) 
N
H

; Gassman indole synthesis

(D) N
H

Et ; Gassman indole synthesis
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229. A -methyl group of an alcohol can be converted to an aldehyde functionality by converting the
alcohol to __________ derivative followed by photo-irradiation and hydrolysis. The main reaction
is called __________ reaction.

(A) amine to diazo; Hell-Volhard-Zelinsky Reaction

(B) nitrite; Barton reaction

(C) carbonate; McMurry Reaction

(D) orthoformate; McMurry Reaction

230. The major product of the following reaction is

OH
NH2

NaNO2/HCl
?

0-5oC

(A) O (B) 
OH

OH

(C) CHO (D) 
OH

N 2

231. When 5 mmols of substrate are converted to product using a catalyst loading of 0.012 mmols in
2 hours the TOF (Turn over frequency) is

(A) 166.6 h-1 (B) 333.3h-1

(C) 416.6h-1 (D) 208.4h-1

232. Find out the TON (Turn over Number) when 5 mmols of substrate are converted to 80% of
product using a catalyst loading of 0.012 mmols.

(A) 416.6 (B) 333.3

(C) 0.075 (D) 208.4

233. MIL-101 is a

(A) Coordination compound (B) covalent-organic-framework (COF)

(C) metal-organic-framework(MOF) (D) an ionic liquid

234. The primary precursor of NYLON 6 is

(A) 1,5-pentane-dicarboxylic acid (B) 1,6-hexane-dicarboxylic acid

(C) Tartaricacid (D) succinic acid

235. Decaffination of coffee bean is done by

(A) scCO2 (B) scH2O

(C) liquid N2 (D) dry ice

236. Which one of the following is an “organocatalyst”?

(A) Wilkinson catalyst (B) Crabtree’s catalyst

(C) McMillan catalyst (D) Olah catalyst

237. The term “reticular synthesis” is associated with synthesis of

(A) Double salt (B) metal-organic-framework(MOF)

(C) terpenes (D) calixarenes
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238. Gold nanoparticles usually sense a toxic analyte by surface plasmon resonance by a color change
from ______.
(A) Yellow to red (B) blue to green
(C) green to yellow (D) red to blue

239. For Gemini amphiphiles, the number of polar heads are ____ and they are located at the _____
of the structure while for bolamphiphiles the number of polar heads are____ and located at the
_____ of the structure.
(A) 2, middle and 2, end (B)  2, end and 1, end
(C) 2, end and 2, middle (D) 2, end and 1, middle

240. Zymogens are a/an
(A) inactive form of enzyme (B) synthetic enzyme mimic catalyst
(C) pro-vitamin (D) pathogen

241. Induced Fit Theory of enzyme is proposed by
(A) Koshland (B) Fischer
(C) Wohlar (D) Brown

242. The cryptands were introduced by Nobel laureate
(A) Lehn (B) Fischer
(C) Cram (D) Pederson

243. An advantage of divergent method for dendrimer synthesis is ______  and a disadvantage
is ______.
(A) fast synthesis; multiple side reactions (B) monodispersity; mid-sized dendrimers
(C) polydispersity; monodispersity (D) fast synthesis; monodispersity

244. The first host-guest complex between cyclodextrin and iodine was synthesized by
(A) Villiers (B) Schardinger
(C) Cramer (D) Lehn

245. Among the following supramolecules, a molecular cage is
(A) Catenane (B) Rotoxane
(C) Carcerand (D) Spherand

246. Arrange the following host molecules in increasing order of portal size i) -CD; ii) CB[8];
iii) Calix-4-xarane [consider bigger portal, wherever applicable]
(A) Calix-4-xarane< -CD<CB[8] (B) Calix-4-xarane<CB[8]< -CD
(C) -CD<CB[8]<Calix-4-xarane (D) -CD<Calix-4-xarane<CB[8]

247. The following schematically represented dendrimer is of generation

(A) G0 (B) G1
(C) G2 (D) G3
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248. In a covalent-organic-framework (COF) synthesis combination of C3and C4 ligands would lead
to a ______ framework.
(A) Hexagonal (B) Tetragonal
(C) Octahedral (D) Adamentane like

249. A pumpkin shaped supramolecule is
(A) Calixarene (B) Carcerand
(C) Cyclodextrin (D) Cucurbituril

250. A vase shaped supramolecule is
(A) Calixarene (B) Carcerand
(C) Cyclodextrin (D) Cucurbituril

251.
 ? 
O O

(A) H2-Pd-C (B) NaBH4-MeOH
(C) NaBH4-CeCl3-MeOH (D) LiALH4

252.
 ? 
O HO

(A) H2-Pd-C (B) NaBH4-MeOH
(C) NaBH4-CeCl3-MeOH (D) LiALH4

253.
 
Ph

?  
Ph

HO

(A) Hg(OAc)2& NaBH4 (B) BH3-THF & Hg(OAc)2

(C) BH3-THF & H2O (D) H2O2& BH3-THF

254. ? O

(A) HgSO4-H2SO4& LiALH4 (B) BH3-THF & NaOH-H2O
(C) BH3-THF & NaOH-H2O2 (D) HgSO4-H2SO4& NaBH4

255.
?  

O
H

(A) HgSO4-H2SO4& LiALH4 (B) BH3-THF & NaOH-H2O
(C) BH3-THF & NaOH-H2O2 (D) HgSO4-H2SO4& NaBH4

256.
 ? O +

MajorMinor

OH OH

(A) LiALH4 (B) LiAlH(OtBu)3

(C) Both LiALH4& NaBH4 (D) NaBH4
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257.  
OH

HO

? 

OH

O

(A) Al2O3 in benzene (B) KMnO4 in aq. H+

(C) KMnO4 in aq. OH- (D) MnO2 in CHCl3

258.  

 

FGI  
+  ? ?  + 

H

H

O

O

HO

HO

(A) &
 

O C H 2 O (B) &
 O O C H 2 

(C) & C H O H O (D)  & C O H O C H 2 

259.  

 

 

 

B + A Ph Ph
Br

CHO
+

(A) & CHO Ph (B) & 

OHC
Ph CN

(C) & CHO Ph
MgBr (D) & 

OHC
Ph

PHPh3

260.  

FGI 
? 

Disconnection 
+ ? 

? 

O

Cl

Ph

O

-

(A) 
 

, 

O

OH

Ph
& 

O
Ph

O

O

O
 

(B) 
 

, 

O

OH

Ph & 

O OOH
Ph

 

(C) 
 

, 

O

OH

Ph
& 

O
O

Ph (D) 
 

, 

O

OH

Ph

OH
Ph & 

O
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261.
 

MeO

MeO

NH2 FGI 
? 

Disconnection MeO

MeO

Cl MeO

MeO
HCl+ 
& 
? 

(A) 
MeO

MeO

CN & CH2I2 (B) 
MeO

MeO

CN & O

O

O

(C) 
 MeO

MeO

CN & I ZnI (D) 
MeO

MeO

CN & 
O

O

262.  

?& H+/H2O 

H

O

Cl

(A) 
N

(B) NN

(C) NN N

N
(D) NN N

263. The atomic orbital coefficients of the ground state HOMO of [1,3]-butadiene is shown below.
What will be the ground state LUMO coefficients of the same?

0.600 0.371 -0.371 -0.600

(A) 0.600 - 0.371 -0.371 0.600 (B) 0.600 -0.371 -0.600 0.371

(C) 0.371 -0.600 0.600 -0.371 (D) -0.371 0.600 -0.600 -0.371

264. Which is the representative wave function of the HOMO of butadiene?

(A) (B) 

(C) (D) 
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265. Product form in the following reaction is:

240 °C 
? 

(A) (B) 

(C) (D) 

266. The successive thermal rearrangement reactions of the following molecule will give:

? 

 

Δ 

(A) (B)  

(C) (D) 

267. Product form in the following reaction is:
 120 °C 

? 

(A) (B) 

(C) (D) 

268. The order of reactivity of the following dienophile in the following Diels-Alder reaction is:

 NC CN CH2OH OMe

A B C

(A) A > C > B (B) A >B  C
(C) C >B  A (D) C >A > B

269. The major product formed on heating butadiene is:

(A) (B) 

(C) (D) 
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270. The major product formed on heating hexatriene is:

(A) (B) 

(C) (D) 

271. The correct order of the bond dissociation energies for the indicated C-H bond in following
compounds is

H H H

 B C A

(A) C>B>A (B) A>B>C

(C) A>C>B (D) C>A>B

272. 1H NMR spectrum of a mixture of benzene and acetonitrile shows two singlets of equal integration.
The molar ratio of benzene: acetonitrile is

(A) 1:1 (B) 2:1

(C) 1:2 (D) 6:1

273. At pH 10, tryptophan exists as

(A) 

H 2N
CH
C

CH2

O -O

HN

(B) 

+H3N
CH
C

CH 2

O -O

HN

(C) 

+H 3N
CH
C

CH2

OHO

HN

(D) 

H2N
CH
C

CH2

OHO

HN
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274. The major product formed in the following reaction is

ONO ? 

(A) 

OH

NO (B) OH
NO

(C) 

OH

NO (D) OH
NO

275. Among the following, the compound that displays an IR band at 2150 cm–1 is

(A) 

N N

(B) 
O

O

(C) N3 (D) 
HN

276. The major product formed in the following reaction is

? 
NaNO2-HCl 

pH 5-6 

N

N

Cl

(A) 

N
NN

N (B) 

NN
N

N

(C) 

N

N

Cl

(D) 

N

N

N
N
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277. The most stable conformation for the following compound is

                  
OH

HO

(A) 

OH

OH (B) OH HO

(C) 

H H

OH OH (D) 
HO

H

H

OH

278. A compound displays the following spectral data. The correct structure of the compound is
IR: 1690 cm–11H NMR:  2.5 (s, 3H), 3.8 (s, 3H), 6.9 (d, J = 8 Hz, 2H), 7.8 (d, J = 8 Hz, 2H) ppm
13C NMR:  197, 165, 130, 129, 114, 56, 26 ppm

(A) 

O

O (B) 
O

O

(C) O

O

(D) O

O

279. The intermediate that leads to the product in the following transformation is

O

O

Tl(NO3)3 

MeOH 

(A) H

O

Tl(NO3)2
H

(B) H

H

Tl(NO3)2
O

(C) Tl(NO3)2 (D) H

H

O
ONO2
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280. The correct match for the following transformations P-S with the processes I-IV is

O
OS + 3O2 hυ 

Sensitizer 

OO O OO

O

O

O

O

R 
hυ 

O
PhPh Ph

Ph COQ + hυ 

 O
EtEt

O
EtP + hυ 

Process: I. Diels-Alder, II. Norrish Type I, III. Photocycloaddition followed by Diels-Alder &IV.
Norrish Type II

(A) P-II; Q-IV; R-III; S-I (B) P-IV; Q-II; R-III; S-I

(C) P-II; Q-IV; R-I; S-II (D) P-IV; Q-II; R-I; S-III

281. Formation of the product in the following photochemical reaction involves

 

O
Ph

Ph

OH

H

Ph

Phhν 

(A) di--methane rearrangement

(B) Paterno-Buchi reaction

(C) [2,3]-sigmatropic rearrangement

(D) Norrish type I reaction

282. The major product form in the following reaction is

 hν 

Cyclohexane

(A) (B) 

(C) (D) 
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283. The major product form in the following reaction is
 hν 

Cyclohexane, Ph2CO 

(A) (B) H H

(C) (D) H
H

284.  The product form in the following reaction is

O

hν 

(A) 
OH

(B) 
O

(C) 
O

H (D) O

285. The photochemical rearrangement major product form in the following reaction is
 

 
hν 

O

(A) O (B) O

(C) 

O

(D) 

O

286. Write down the photochemical product for the following reaction

 hν 
N3

(A)  
N

(B) 

N

(C)  

N

(D) 
N
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287. Write down the photochemical product for the following reaction

 
?

 

N

N hν 

(A) 

N

N (B) 

N

NN

N

(C) 

N
N

(D) 

N
H

H
N

288. Choose the correct pair for the following reactions

 

N

N

NH2

MeI, RT 
? 

Aq. NaOH 

warm 
? 

(A)  
N+

N

NH2
I-

N

N

N
H

&
(B) 

N+

N

NH2
I- N

N

NH2

&

(C)  
N

N

N
H

N

N

NH2

&
(D) 

N

N

N
H

N

N

NH2

&

289. Select the correct product:

 
? 

N

N

O

Basic condition 

(A) N

N
H

O

Ph

(B) 
N

N
H

Ph
O

(C) N

N
H

O (D) 
N

N
H

Ph
O
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290. What will be the product for the following reaction?

 1O2 
O

N

(A) 

N OO

O

(B) 

O

NO
O

(C) 

N OO

O

(D) 

O

N
O

O

291. Which one of the following proportionality relations is correct as a statement for Charles’s Law
for ideal gas?

(A) P  1/V (B) V  1/T

(C) V  T (D) P  V

292. Which one of the following equations corresponds to Kirchoff’s Law?

(Symbols are 0
r H -reaction enthalpy, T1, T2-temperature where T2>T1, 

o
r pC  – difference in

molar heat capacities of products and reactants)

(A) 0 0
2 1 2 1( ) ( ) ( ) o

r r r pH T H T T T C     

(B) 0 0
2 1 2 1( ) ( ) ( ) o

r r r pH T H T T T C     

(C) 0 0
2 1 2 1( ) ( ) ( ) o

r r r pH T H T T T C     

(D) 0 0
1 2 2 1( ) ( ) ( ) o

r r r pH T H T T T C     

293. The equation for residual molar entropy (Sm(0)) of a solid in which the molecules can adopt six
orientations of equal energy at temperatures close to absolute zero is (R-universal gas constant)

(A) Rln(32) (B) Rln(6)

(C) Rln(23) (D) R / ln6

294. Which one of the following equations would correspond to total degrees of freedom ( f ) for
phase diagram of water according to Gibbs phase rule? (The symbols are f : degrees of freedom,
p : number of phases in equilibrium and c : number of components)

(A)  f  =  c -p +2 (B)  f  =  c -p +1

(C)  f  =  c -p (D)  f  =  c  + p – 2
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295. According to Graham’s law of effusion, rate of effusion is proportional to which one of the
following options? (The symbol M is molar mass of effusing species)

(A) M – 1 (B) M – 1/2

(C) M 1/2 (D) M

296. Which one of the following substances which are considered as liquids in the standard state
would exhibit a deviation from Trouton’s rule?

(A) C6H6 (B) CCl4
(C) C6H12 (D) H2O

297. At low temperatures close to 0 K, the relation between molar entropy (Sm(T)) of a nonmetallic
substance and molar heat capacity at constant pressure (Cp,m) is expressed as

(A) ,
1( ) ( )
3m p mS T C T (B) ,

1( ) ( )
2m p mS T C T

(C)  2
,( ) ( )m p mS T C T (D)  3

,( ) ( )m p mS T C T

298. The slope of the temperature dependent molar Gibbs energy at constant pressure is

(A) Molar enthalpy (B) Molar volume

(C) Molar entropy (D) Molar heat capacity

299. Which one of the following equations is the first law statement that describes the process in a
constant-volume bomb calorimeter?

(A) U q w   (B) U q 

(C) 0U  (D) U w  

300. Which one of the following equations is a correct statement for second law in terms total entropy
when a chemical reaction takes place exchanging enthalpy 0( )r H  with the surroundings at T?

(A) 
0

0 r
total r

HS S
T


    (B) 0

r S is always positive.

(C) 0
r S is always negative. (D) 

0
r

total
H

S
T


 
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